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RIER O R IRXEGHE

A3 —2 BEMICERTILBESNOEHEICEHTHER1/1) _ _ | HzagE | BHIEE
SEfouE [ #BmES | 213BNO72 [ B 7t [ et | i L P
, SEMMOTIRICHET ST S ERI A
i LREOBBNBIEADKRES LREORRBELADKES LREOBHOBSENDRES LREDEBRBILNDRES
&S X 4 z.%;f 'Fﬁﬁﬁ‘(i)@ﬁﬁ%ﬁ b(giac"ié X 4 'Fﬁﬁﬁg\%l:z(?;kili '(.%:n? b(giac"ié X 4 ﬁa‘; J:ﬁn*ﬁb\(if)tt‘.%' jj(&icm%)é X 4 J:ﬁn*ﬁb\(if)tt‘.%' ﬁf jj(&icm%)é
7 100kN/mM#E#BZ5 | 1.00 | 000 ~ 110 116.60 |3mZBAB| — ~ — — — | 100kN/m%#82% | 1.00 | 11.18 ~ 1465 116.60 |3mE#BZ% - ~ — — —
zhLst 100|110 ~ 889\ 100.00| Fhis | 000 ~ 889|238 1272 zhLst 1.00 | 6,00 ~ 1118 100.00 | FnLS | 5,00 ~ 14.65| 2.538 12.72
2 100kN/m%#8%z% | 1.00 | 000 ~ 228 13548 |3m&xBZ%| — ~ — — — | 100kN/mM%#82% | 1.00 | 1055 ~ 1957 13548 |3m%E#BZ% - ~ — — —
Zhst 1.00 | 228 ~ 1006 100.00 | #hdst | 0.00 ~ 1006| 2.41 12.90 zhLst 1.00 | 5.00 ~ 1055 100.00 | #hst | 6.00 ~ 1957 2.41 12.90
3 100kN/m##8%z% | 1.00 | 000 ~ 222 134.46 |3m%x{BZ%| — ~ — — — | 100kN/mM%#82% | 1.00 | 1058 ~ 19.13| 134.46 |3m%E#BZ% - ~ — — —
Fhst 1.00 | 222 ~ 1000 100.00 | st | 0.00 ~ 1000| 2.43 13.00 zhLst 1.00 | 5.00 ~ 1058 100.00 | #hs | 6.00 ~ 1913| 2.43 13.00
p 100kN/m%#8%z% | 1.00 | 000 ~ 208 13219 |3m%x#Bz%| — ~ — — — | 100kN/m%E#z25 | 1.00 | 1055 ~ 1879 13219 |3mE#z3 - ~ — — —
zhLst 1.00 208 ~ 986\ 100.00| Fhist | 000 ~ 986 2.54 12.54 zhLst 1.00 ] 56,00 ~ 1055 100.00| FnSt | 5,00 ~ 1879 2.54 12.54
5 100kN/mM#E#BZ5 | 1.00 | 000 ~ 224 134.89 |3mZ#BAB| — ~ — — — | 100kN/m%#82% | 1.00 | 1066 ~ 20.75| 134.89 |3m%E#BZ% - ~ — — —
Fhst 100|224 ~ 1003 100.00| Fhs | 000 ~ 1003| 2.61 13.99 zhLst 1.00 | 5.00 ~ 1066 100.00 | Tnhst | 6500 ~ 20.75| 2.61 15.99
P 100kN/mM%EBZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Zhst 1.00 | 0.oo ~ 738 94.12 | =S 000 ~ 738 1.78 9.51 Zhst 1.00 | 5.00 ~ 9.54 94.12 | =hst | 500 ~ 9564 | 1.78 951
- 100kN/ Mm% Z 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
Tt 1.00 | 000 ~ 711 90.37 | =nLs 000 ~ 711 1.72 9.23 FhLst 1.00 | 6.00 ~ 898 90.37 | =ns | 5,00 ~ 898\ 1.72 9.23
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ Zzhusn ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




